CONNUIGSSROHPIATES

ESRESPARIN VB RNGSYSIEM

E SERIES PART NUMBERING SYSTEM

CONNECTOR PART NUMBER SCHEME

1 773 792-2700

Series | Pins/ Gender |Fas-disconnect | Termination Housing Terminal Mounting Hole
Contacts Option Style Finish Finish Options
E 3-5 pins |F Female| D: Fas-disconnect | ST: Straight PC terminals | B: Black AU: Gold M3: M3 x 0.5 thread
M: Male |Blank: Standard | RA: Right angle PCterminals | Blank: Nickel | Blank: Silver | 440: #4-40 thread
locking SC: Solder cups Blank: Counter-
Blank: Conical springs* sunk hole
HOUSING ONLY PART NUMBER SCHEME
Series | Pins/ Housing Mounting Hole
Contacts | Finish Options
E F: Female | B: Black M3: M3 x 0.5 thread
M: Male Blank: Nickel | 440: #4-40 thread
Blank: Counter-sunk hole
INSERT ONLY PART NUMBER SCHEME
Series | Pins/ Gender Fas-disconnect Termination Housing | Terminal
Contacts Option Style Finish Finish
E 3-5 pins F: Female | D: Fas-disconnect ST: Straight PC terminals AU: Gold
M: Male Blank: Standard locking RA: Right angle PC terminals Blank: Silver
SC: Solder cups
Blank: Conical springs*
*3-pin only
DIMENSIONS ARE FOR REFERENCE ONLY 1
(mm)
tered trad k of Swi aft, Inc.

resentative for price and delivery
Downloaded from Datasheet.su




i

[3.30] W
130 CONICAL SPRING
.

E3M SOLDER TERMINALS

GROUND
PANEL CUT-OUT TERMINAL
FRONT OR REAR MOUNT
LATCH NOT
INCLUDED WITH
OPTION "D"
[47] FAS-DISCONNECT
19 "
E3F o
) 1.8]x[3.2 119
- 1D 7 o o7 358 pEEP QEW]TYP @ [41?3]
100 [2.54] HOLE
i PoRg
= S SELF TAPPING
— SCREW
450
[177j [4]
MALE SOLDER CUP ] 4] 158
OPTION "SC" T[] 158 4]
95 7 pamsT 1 158 pC BOARD LAYOUT - COMPONENT SIDE
_ [1.80] [119]  [450]
@) $.071 @.047 177
TYP (3) ©.100 [2.54] HOLE
L 11.81x[3.2] FOR # 2-56 X 5/32"

071 x.126 DEEP SELF TAPPING
SCREW

[47]
[.41. ;j RN [147 750]
E E
F# 054

FEMALE SOLDER CUP =
OPTION "SC"

[1.38]

[5 59] .054

[4] 220
158

.

PC BOARD LAYOUT - COMPONENT SIDE

119
@[.047]TYP (4) W G4i

. . 2
i e a0 b
REAR MOUNT OPTIONS g APRING 1 Cace]
e e - | [4] 200
U A58 4]
e 11.81x [4] o
~&E5 .071x 158 DEEP [508] 4
[5.08] e I R [4] PCBOARD LAYOUT - COMPONENT SIDE
.200 E3MRA 158
MOUNTING [22.5] [1.19
HOLE TYP (2) 886 [180] $.047
®.071 TYP (3) ‘
100 [2.54] HOLE
OPTION "M3" g"%g}ﬁ:’;éﬁ% 2
M3 x 0.5 THREADED HOLES SCREW [s0e]
OPTION "440"
#4-40 THREADED HOLES [5.08]
o] [373] X [%e DEEP 200
ot [4]  PC BOARD LAYOUT - COMPONENT SIDE
[5.08] L__ [4] 158
200 E3FRA 158

Downloaded from Datasheet.su



PANEL CUT-OUT
FRONT OR REAR MOUNT

| [219]
86 [47]
: = 19
GROUND

Ul
TERMINAL

SOLDER CUP
TERMINALS

T [210]
210
.083

MALE CONNECTOR
GROUND TO PIN #1
OPTION "G1"

FEMALE CONNECTOR
GROUND TO PIN #1
OPTION "G1"

INCLUDED WITH

OPTION "D"

FAS-DISCONNECT
E4FSC

GROUND
TERMINAL —

SOLDER CUP
TERMINALS

[1.8]x[3.2]
©.071x.126 DEEP

E4MST

[4.19]

[1.19] ¢
©.047 TYP (5) IS

[8.31] $.100 [2.54] HOLE
327 f=—/ FOR#2-56x5/32"
SELF TAPPING SCREW
450 ]
165 r—— L

[081] 7
032
] i

[447] [284]

164 112

- [24] [a7]
I~ 945 19
[1.8]x[3.2]

©.071x.126 DEEP

[8:31

48

[419] L 327 [1.19]
©.100 [2.54] HOLE — 165 f— 3.047 TYP (5)
FOR # 2-56 x 5/32" 3 *
SELF TAPPING G
SCREW % i

/ '

2o} prom

: -
& %q—{

[4.50] [368]

45

B S
SWITCHCRAFT

MOUNTING
HOLE TYP (2)

OPTION "M3"
M3 x 0.5 THREADED HOLES

OPTION "440"
#4-40 THREADED HOLES

Downloaded from Datasheet.su

.080 77 A
u E4FST [o081] [4.17]
032 164
f— [fso.sj [5.08] [5.08]
! .200 —:‘:—4— .200
SOLDER CUP ; O~ [2.1840.05 ]
GND TERMINAL +
| ©.086+.002
[1;67:] I PILOT HOLE TYP (2)
’ [12.70] ! ©.125[3.17] HOLE
500 & & FOR # 4-40 x 3/16"
SELF TAPPING SCREW
4, 3 2, 1
U 1 T
C127] E4MRA (o8] | [1o.6]
50 '2 36] x [4] [1.19] [20.32
.093 x .158 DEEP $.047 TYP (4) 800 —=
[25.5] [5.08] [5.08]
= 0 = 200 — .200
N
SOLDER CUP = 2.18£0.05 |
[ GND TERMINAL 0862002
A \ PILOT HOLE TYP (2)
$.125[3.17] HOLE
[1267(;3] & & € FOR #4 -40 x 3/16"
SELF TAPPING SCREW
1 1, 2 3, 4y
&
E E4FRA [5.08] J‘ | [1o16]
200 400
[1.19] [20.
©.047TYP (4) 800

f——
2.36] x [4]
.093 x .158 DEEP

32]



/ \ GROUND
[31] ¢ ' TERMINAL
1220 ; OUNTERSINK \
FOR #4 FLAT
HEAD SCREW
7d
H SOLDER CUP

T [3.30] __1

— TERMINALS
_o] 9] 130 T 2o
E5MSC .083

" o - [2;';’37 )

1

PANEL CUT-OUT
FRONT OR REAR MOUNT (1]
05

INGLUDED wiTH

MALE CONNECTOR OPTION "D"

GROUND TO PIN # 1 FAS-DISCONNECT

OPTION"G1 ESFSC - FoRMNALS
8.28

[41‘;] ©.100 [2.54] HOLE [‘326] [149]

FOR # 2-56 x 5/32"
SELF TAPPING
SCREW

¢.047 TYP (6)

=

1.8]x[3.2
i <2)[ 071 ):([ 1223 DEEP-

— [076] [ 30] 4
L 030 [2.741 13
- E5MST -108 260
FEMALE CONNECTOR ~ [9225] - Dﬁ?
GROUND Tq Pll:l #1 L~ Blxia2 ©.100 [2.54] HOLE
OPTION "G1 #6753 peer -, FOR#2 DO xS
= SCREW
=
s ) [1.32]
L 062 J {130 - [%ggjt ’
U — 274 )
ESFST C 108j 07[_‘3228] [ﬁ.ggj
e [255] . 5.08 5.08
n 1.00 [2001 [.200]
0 SOLDER C D~—o
3R TERMINAL I ‘ [2ta00s]
! [1;b708] I \ PILOT HOLE TYP (2)
’ ¢ 125[3.17] HOLE
REAR MOUNT OPTIONS [1270] (. & Fons Laoxane:
i 5. 4. 3| 2, 1SELFTAPPINGSCREW
P A . U E ! i } » ¢ ¢ ¢ [10.16]
[127] | ESMRA Esz-ggl/ 400
R 50 (2.36] x [4] [119] = [2032]
_— ioesx 158 DEEP 3047 TYP (5) — 800 ~
o 200 — 200
MOUNTING .
HOLE TYP (2) SRR I = 210:005)
| & 086002
[1?,6783] PILOT HOLE TYP (2)
OPTION "M3" : ©.125 [3.17) HOLE
M3 x 0.5 THREADED HOLES [r270] [ & & forwraoxae
12,8 ‘ 4. 5 SELF TAPPING SCREW
\

OPTION "440"

T 7l (s OB]J‘ M [10.16]
#4-40 THREADED HOLES E5FRA o - 400
0 [2.36] x [4] [119] [20.32]
©.093 X .158 DEEP ©.047 TYP (5) 800 —=f

Downloaded from Datasheet.su



